FDR RESTORATION WORK YEAR (2020-21)

GENERAL ABSTRACT OF COST

BLOCK :-	MURLIGANJ	DISTRICT	MADHEPURA
Name of Road	Haripur Kala Panchayat Sarswati C Rampuriya Bajrangl	_	hi Panchayat

S.No.	Description of Items		Amounts
A	TOTAL COST OF RESTORATION	Rs.	3993278.33
В	Seigniorage Fees	Rs.	83210.00
С	Add @12% GST	Rs.	479193.40
D	Add @1% Labour Cess	Rs.	39932.78
	Total (A+B+C+D)	Rs.	4595614.52
	Say	Rs.	4595615.00

J.E.

RWD(W)Div.Madhepura

A.E.

RWD(W)Div.Madhepura

E.E.

RWD(W)Div.Madhepura

	7	Enf	_	etails of M	easure	ment			
	कार्य का ब्योरा Deatail of Workl		संस्थात		Measuran				
		atan or v	vorki		No.	राम्बाद	वीजाई	in m.	
	WORKE .	Ha	4			in m.			Quantity
ME OF	WORKS :-		ipar Kal	a Panchayat S	artwell C	L			
n No. 1	Sand Filling	g in dito	h A break	a Panchayat S	Bairana	nows to	Dighi Pane	hayat Ran	ipariya
			. a breact	portion of road	as per Dra	Wing & Te	Christen Cons	Magathan T	
				Ch			unnear spec	meatien.	
				Ch km Ch km	0	0	1 0	0	0.000
No. 2	Laying Bric			KIII	0	0	0	0	0.000
NO. Z	Laying Bric	x Bat					otal (in Cur	(1)	0.000
				Ch-0.950 Km.	1	15.7	5.7	1.0	170.031
	Dela				1	29	6.1	3.3	583.770
	Deduct F	ipe 2x2	2/7(r+h)		5			47 146	235 730
No. 3	I about for a	***				-	atal (in Cu	41.110	518.071
VO. 5	driving etc.	utting 62	mm to 75	mm dia bambo	o piles to s	ize and m	aking aboas	and	310.071
	Tanking Cic. (complete	lop as be	mm dia bambo er specification a	and direction	n of E/I	aiding arioes	and	
					0			1.25	0.000
		F	or Rambo	o pilling 1.25m					
0.4	Labour for 6	tting ==	C				Total (in m)	0.000
	wire or 75 m	m to 100	Tixing Spl	lit bamboo wove	en chachar	i in positio	n with 20 sw	vg G.I	
				nails alternative on and direction		g cost of (3.1. wire or r	nails	
	,,50	ac per	specificati	on and direction	of E/I				AND STREET
			lize 6m-2r	m, Ch km	0	6	2		0.00
	For Chac	hary 01	no Ramb	Ch km oo=1.413 sqm	0	6	2		0.00
			To. Danie	00-1.413 sqm	0	6	2		0.00
0. 5	Labour for fit	ting and	fixing 75	mm dia bambo	0 runners	in position	otal (in sq	dical cola	0.00
	with 150 mm	long na	ils or 38 s	wg G.I. wire inc	ludina cos	t of G I wir	e or nails co	omplete	
	job as per sp	ecification	on and dire	ection of E/I			o or mano or	Ji i prata	
					0	19			0.00
							Total (in m	1)	0.00
. 6	Supply of Bar	mboo at	site.						
							Total (in n	n)	0.00
						-	Total (in no	15.)	0.00
									0.00
				gs with loocal s					
ļir	ncluding supp	oly of su	tli and EC	bag etc. all cor	mplete as	per appro	ved desing,		
s	pecification a	ind direc	tion of E/	<u> </u>		,			
					0	-	-		0.00
					0	-	-	-	0.00
					0	-		-	0.00
					U	Total	(in nos.)		0.00
									0.00
					1 -	iotal (i	n % nos.)		0.00
8 Sı	upply of Nylo	n Crate	of size 1n	nx1mx1m at si	te.				-
				Ch km	0	-	-	-	0
				Ch km	U	Total	(in nos.)		0
						The second secon			- 0
9 L	abour for filli	ng emp	ty cement	bags with loo	cal sand,	stitching th	ne bags and	1	
		4 .	- F aira (1 m v 1 m x 1 f	m will le	שכו וט טוב	WI HICKGOING		
s	upply of sutli	etc. at	site in drv	portion all con	libiaia as	per appro	vad dasign	'	
			specifica	ation and direct	ונטוו טו נטוו				0.00
				Ch km	0			-	0.00
				Ch km	0				0.00
				CII		Total (in	per 25 nos	.)	0.00

		·			
	1	60	6.7	0.150	60.30
Water Bound Macadam with Ot			Tot	al (Cum)	60.30
Water Bound Macadam with Ston	e Screening Type "B" C	er- III			
		T	T		
	1	60	6.7	0.075	30.15
			То	tal (Cum)	30.15
Cement Concrete Pavement (M-3	30)	*************************************	***************************************		
	1	60	6.7	0.160	64.32
			То	tal (Cum)	64.32

Schedule of Quantity

AME OF WORKS : Haripur Kala Panchayat Sarswati Chowk To Dighi Panchayat R BLOCK MURLIGANJ

		<u></u>	OF ITEMS DESRIPTION	QTY	UNIT	RATE	AMOUNT
1	1	12.3	Sand Filling in Facilities	Q11	OMI	KAIE	AMOONI
	2	A/R	Sand Filling in Foundation Trenches as per Drawing & Technical Specification. Providing & laying Brick Bat	0.00	Cum	554.03	0.00
			Providing and laying of Brick bat obtained from chimney with machenical means with all spreading, grading to required slope and compacted at OMC to acheive required density with all complete as per the direction of engineer in charge.	518.07	Cum	1856.19	961639.74
3		5.7.7	Labour for cutting 62mm to 75 mm dia bamboo piles to size and making shoes and driving etc. complete job as per specification and direction of E/I	0.00	m	27.90	0.00
4		5.7.8	Labour for fitting and fixing Split bamboo woven chachari in position with 20 swg G.l wire or 75 mm to 100 mm long nails alternatively including cost of G.l. wire or nails complete job as per specification and direction of E/l	0.00	sqm	73.60	0.00
5		5.7.9	Labour for fitting and fixing 75 mm dia bamboo runners in position at every vertical pole with 150 mm long nails or 38 swg G.l. wire including cost of G.l wire or nails complete job as per specification and direction of E/I	0.00	m	5.00	0.00
	-		Supply of Bamboo at site.	0.00	nos.	158.44	0.00
	5	.7.40.1	Labour filling empty cement bags with loocal sand, stitching the bags and placing including supply of sutli and EC bag etc. all complete as per approved desing, specification and direction of E/I	0.00	Per %	3300.20	0.00
			Supply of Nylon Crate of size 1mx1mx1m at site.	0.00	Each	42.20	0.00
	5.	7.40.2	Labour for filling empty cement bags with loocal sand, stitching the bags and placing in Nylon crate of size (1 m x 1 m x 1 m) with lead of 150 M including supply of sutli etc. at site in dry portion all complete as per approved design, specification and direction of E/I	0.00	Each	825.10	0.00
	9.1	/11.1	Earth work in excavation for foundation of structures upto 3.0 m depth as per drawing and technical specification clause 1104	237.08	Cum	253.72	60151.94
	11.	4 (II)	Providing M15 (PCC 1:2.5:5) as levelling course in foundation : Providing PCC M 15 (1:2.5:5) concrete for plain concrete in open foundations complete as per drawings and technical specifications Clause 802, 803, 1202 & 1203	39.86	Cum	5331.62	212518.37
	12.5	5(II)	Plain/reinforced cement concrete in substructure complete as per drawings and technical specification Clauses 802, 804, 805, 806, 807, 1202 ans 1204 (20.)	305.36	Cum	5868.73	1792075.3
	9.3 ((B) c	Providing and laying RCC pipe NP-3 for culverts on first class bedding of PCC M10 material in single row ncluding fixing collar with cement mortar 1:2 but xcluding excavation, protection works,backfilling oncrete and masonary works in head walls and arapets as per clause 1106	75.00	m	3448.30	258622.50

T	Painting on Parapet Wall (Black & White Strips) Painting two				
14	concrete surfaces as per drawing and Technical Specification Clause 1701	160.96	sqm	91.60	14743.94
15	Granular Sub-base with Well Graded Material (Table 400.)(For Grading I Material)	60.30	Cum	2749.65	165803.90
16	water Bound Macadam with Stone Screening Type "B" Gr- III	30.15	Cum	3223.28	97181.89
17	Cement Concrete Pavement (M-30)	64.32	Cum	6548.09	421173.15
18	Dismantling of existing structures like culverts, bridges, retaining walls and other structure comprising of masonry, cement concrete, wood work, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 1000 m as per Technical Specification Clause 202.				
	Cement Concrete	1.50	Cum	442.16	663.24
	Reinforced Cement Concrete	3.36	Cum	1015.62	3412.48
19	Dismantling of existing structures like culverts, bridges, retaining walls and other structures comprising of brick masonry, including disposal of unserviceable material and stacking the serviceable material with all lift and lead of 100 m as per Technical Specification Clause 202.				
	Cement mortar	24.75	Cum	213.81	5291.80
	Total			Rs.	3993278.33